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(1) Atrapezium the length of its middle base = 6¢cm and its height 10cm

then its area =....cm?2

(@) |86
(b) |60
(© |72
(d) |100

(2) AXYZ : in which XY=10cm , YZ=8cm , XZ=6cm then its type according to

the measure of its angles is ....

(@) |Rightangled
(b) |Acute

(c) |Obtuse

(d) |isosceles

(3) If the triangle ABC ~ triangle XYZ then m(£A4) = m<«.....

(@ (Z
(b) |Y
() [X
(d) |B
(4) Arhombus of diagonal lengths 7cm, 10cm then its area =....cm?
@ |70
(b) |54
(¢ |32
(d |35
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(5) ABCD is a parallelogram in which AB=6cm , BC=12 cm and the length of
its smallest height equals 4cm then its area =...cm?2

(@) |48
(b) |34
(c) |18
(d |20

(6) The projection of a point on a straight line is .......

(@) |Point

(b) | Straightline
(c) [Ray

(d) |Line segment

(7) In the opposite figure :

LMN is a triangle in which, m(2M) = 90° = N
MH LIN,H€IN,NH=9cmand HL =16 cm 16 cm
2 _ ..
then (MH)* = L M
(@ |81
() |144
(©) |256
) |180
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